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3ABTPAK BbrxoA, a qeHa Karopr.iir 6erRr.i }|{rapbl ytreBoAbl

oBol4t4 c9eHre 100 2!.29 7.9 0.5 0.1
phroa, 3anerreBan c rriqoM 100 44,O7 165 13 8,9 8,2
n|ope l(apToqenbHoe 180 20,2! L47 4,4
cox 200 !4.73 138 0,5 0 34
Xe6 nueHr,rHbri 20 2 40,5 o,7 0,7 9,4
x.ne6 BxraMxHr,r3xDoBaHHbri 20 39 L 0

O6ea

carai (aprooenbHbrfi c (yRypy3oi 100 77,7 88,3 2,4 7,4

cyn-xapqo c MrcoM 2so,/70 30,7 7.4 22
KypBqa, ryuJeHaa c (anyfiox 200 67,62 308 L2,5 20,5 18,4
HoMnor {3 csexux Opy(ToB 200 !2.38 83.2 o,2 0 20,6
Xne6 cnaBrHcxxfi 40 81 0,4
X,/|e6 nueHu,rH6ri 60 t77 3 ! 24
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